AgSystems™

ASSEMBLY INSTRUCTIONS

'---D Y/ CANARM' s

IrFeEk

9 \ "' = fid
‘.‘q i
: ﬁ*l&
I
“"‘_ ““;‘ (
‘ ‘ / '
y ) \ STAINLESS PROTECTOR | : 'v'
.% (@) | BRACKET | :
e [ - OPTIONAL EXTENSION
QaiiE O | ’ (10105EXT-HDW)
~ BOLT M5X12 WITH LOCK NUTS g
o= ‘1 )
PLASTIC HOUSING BOLT M5X127 WITH LOCK NUTS FEED RESTRICTOR

WITH 4 MOUNTING HOLES

ASS E M B LY I N STR U CTI O N S FULLY ASSEMBLED FEEDER SHOWN ON PAGE 2

1 Insert plastic feed activator into the top of the plas-

" tic housing and lower it down until it begins to pro-

trude through the bottom hole of the housing, as
shown in Figure #1.

Note: It is very important that the feed
activator be installed correctly in order for
feeder to work properly.

2_ Slide the stainless protector bracket onto bottom
of the plastic housing as shown in Figure #2.

Ensure that the holes in the bracket align with the
holes in the housing.

3 Attach stainless protector bracket to the plastic
" housing using two of the bolt M5X12 with lock nuts,
and one bolt M5X127 with lock nut.

Depending on how much feed you want released,
there are three possible configurations/settings for
the M5X127 bolt with lock nut - HIGH, MEDIUM AND
LOW, as shown in Figure #3.

\W

BOLT M5X12 WITH LOCK NUTS

MEDIUM —> I8 BOLT M5X127 WITH LOCK NUTS

Low —=

iIFEED-SOW-M- 07/11/13 Page 1 of 2



4. Note: Step #4 is optional. j CRATES-7
If you are using pellets or a coarse feed, the feed SEPT/2014
restrictor may not be necessary.

Should you wish to install the feed restrictor, insert
it into the plastic housing from the top, as shown
in Figure #4.

Continue to gently lower it down until it rests on
the plastic feed activator you installed in Step #1.

5. Note: Step #5 is optional.
An extension to the ad lib feeder is also available.
(Part # i-10105ext-HDW) To install extension,
simply set it inside the ad-lib feeder as shown in
Figure #5 and use the 3 screws that are provided
with it to fasten the hopper to the plastic housing.

IFEED ASSEMBLED

\\ #10 SCREW / \

—_— ,/‘
~—PLASTIC \ //\ ] \
HOUSING 1 k/ \H ] \
7
>

FEED WITH 4 MOUNTING HOLES L
RESTRICTOR g & ‘ ¥
** LEANING TOWARDS - I W 98" o
FRONT OF HOUSING ** =4 1/2"—==—4 1/2"—= e
3 5/8" =
H j h\N
\ iFEED | \
I i it
PLASTIC FEED \\ /1 5\
ACTIVATOR A /o i\
1 I I\
\" \\ f‘i f \\\\
by fo A\
LA | A\
(RS WY
STAINLESS WY
PROTECTOR = N

PLATE

Note: Screws should be 3/8" from the top of the Ad-Lib feeder to the center
of the screw.

WARRANTY

CANARM Ltd. warrants every new Ad Lib iFEED feeder to be free of defects in material and workmanship, to the extent that, within a period of
one year from the date of purchase CANARM Ltd. shall either repair or replace at CANARM's option, any unit or part thereof, returned freight
prepaid, and found to be defective.

This warranty does not include any labour or transportation costs incidental to the removal and reinstallation of the unit at the user’s premises.
Components repaired or replaced are warranted through the remainder of the original warranty period only.

This warranty applies to the original purchaser-user only; it is null and void in case of alteration, accident, abuse, neglect, and operation not in
accordance with instructions.

NOTICE: No warranty claims will be honored by CANARM Ltd. unless prior authorization is obtained.

CANARM LTD. - Corporate Office Arthur Manufacturing Facility
2157 Parkedale Ave., PO Box 367 Brockville, ON #7686 Concession 16, RR 4  Arthur, ON
Canada K6V 5V6 www.canarm.com Canada NOG 1A0
Tel: (613) 342-5424  Fax: 1-800-263-4598 Tel: (519) 848-3910  Fax: (519) 848-3948
E-Mail: agsales@canarm.ca E-Mail: agsales@canarm.ca

Y/ CANARM'

iIFEED-SOW-M- 07/11/13

Agsystemsw Page 20of 2



